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Operating SYstem CSCP-20

l{ote: Attempt all the questions

Ql.a) Whatare principal advantages arid disadvantages of niLrltiprograrnmirlg?

b) what information about a process need to be saved, updated when

takes place..

Q2.a)Definemultilevelfeedbackqllelleschedu[ing?Explain.

b) Give the relation b/w time quatrtum ol'RR scheclLrling arrd AWT (if possible drarv graPh).

(s)

Q3. Give the.dift'erence b/w Mutex apd semaphores? Explain the types of semaphores? (10)

e4. a) A system tl-rat uses Banker's algorithrr-r for deadlock has {ive processes and for-rr scl of

resources.
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Is the state of the system is sale or not' Explain your ansvver' (6)

or

a) Given thereferencc to the lolloiving pages by a prograir

0, 9,0, 1,8 I ,8,7,8,7 1,2,8,2,7 8,2,3,8'3

HowmanypagefatrltsrviIloccr-rriftheprogratrrlrasi.l.rreepa$efratriesar,ai[ablctoitand
USES:

1)LRU rePlacetnent

2)OPtirnal rePlacenletrt

3)Second chanoe aIgorithm

b)Explainlrowlirrearlyorderingresourceshelptopre\/Cntthedeadlocl<?

Q5.a)Definetlreconceptof.pr'rredernarrdpaging(r,vitlrcliagram).Wlratis
Swapperirritar-rdlior,vpcrforlllallceoldcrtranclpag.inScairbecalculated?

or

i\4.M:50

(5)

context switching
(5)

(5)

(6)

(4)

tlrc role of lazY
(6)
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a) Consider the following seqltence of disk tracks requests

27,129,110,186,147,41,10,64,120. Assunre that initiatly the head is at track 30 and is
moving in the direction of decreasing track numbers. Compute the no. of trucks the head

traverses using FCFS, SSTF and elevator algorithms. (6)

b) Suppose the time to service a page fault is on an average 10ms, while an-iemorf access

time takes I microsecond. Then vvhat is the average metnory access tirne for a9L)-99Yo hit
ratio. (4)
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